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RARE

Section A: Multiple Cholce Questions [56 marks] .
For each question from 1 fo 28, four eptions are given. One of them is the carrect answer,
tndicate your choice in this booklet and shade the: correct oval (1, 2, 3 or 4} on the Opficay

Answer Sheet provided.

4.  Samfound aplantin the garden and measured its height.
After two weeks, he measured its height agair.

TR

at the stér,t after two weeks

From his observation, Sam concluded that the plantis a fiving thing because it can

(1) grow

(2) breathe

(3) vespond

(4) reproduce

2. Which statément is true about most mammals?
(1) They can swim.
(2) They have wings.

(3y They produce milk.

(4) They have four legs.

3 Which part, (1), (2), (3) or (4), makes food for the plant?
of- )
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Which one of the followmg shows the correct order’ whe
n food moves th
parts of the digestive system? rough some

@
stomach small large
intestine intestine
@ -
<) . B
stomach large ~small
intestine. intestine
large stomach small
intestine intestine
(4)
&S ° &)
small large stomach
intestine intestine

Page 3 of 16




6.

The diagram below shows the lifa cycle of an animal.

. egg

Which animal is likely to havethe life cycle as shown above?

f‘l} beetle

2) butterfty

(3) chicken

(4) cockroach

Object X was attracted to & magnet, as shown in the figure below,
magnet ——

object X

Oblect X is made of

(1) steel
(2) ‘wood
(3) Dplastic
(4) rubber

Which of the following objects is not made of waterproof material?

() @)

metal fotk:

fubber gloves

sl

toilet paper

-,

plastic umbrella

Page 4 of 16
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g Which one of the following is a source of light?

10.

11.

() (2)

- the mobn an orange

(4) ﬁ

a candle flame

3)

Which oné of the following is not a source of heat?

{1) theSun

(2) alighted bulb
(3) -awoollen cap
(4) a candle flame

Which one-of the-following substances has a fixed shape?
(1) air
(2) oil

(3) stone
(4) water

The table below shows the classification of some living and non-living things.

Living Things _Non-living Things
grass toy car
yeast miushroom

butterfly L. fan

Which of the following has been wrongly classified?
(1) fan

(2) grass

(3} yeast

(4) mushroom

Page 5 of 16
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12,

The diagram below shows a plant.

Which of the follawing, A, B, C-or D, correctly represents the plant in the diagram
above?

flower =

fruit

. leaf -

' Plant.

‘GrowsonlLand

~ Grows in Water

Reproduces | Reproduces | Reproduces
by Seeds

“Reproduces
by Spores

A

by Seeds by Spores |

( 7-

B
c
5

)

@)
3
@)

>

oOw
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13 Study the flowchart below.

Which one of the following correcily represents P, Q, R and §7?

Aniimals

Does it lay eggs? [— N2, P

‘-Y‘es

" Does it have scales? |— %

N

Wes_
- Does it live on land?

,l;Yes

3

No

Q

150y

P Q R s
M| bid amphibian bird insect
(2) mammal insect fish reptile
()| reptile bird  insect amphibian
@ mammal reptile _amphibian fish

14.  Pauline made some observations of a living thing and listed them as shown below.

o It does not make its own food.

+ It needs air, food and water to survive.
» [t can only be seenusing a microscope.

Which of the following living things could Payline have observed?

{1
(2)
(3)
(€3]

bird
fem
bacteria

mushroom

Page 7 of 16
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18. | Mr Murray tried to remove some unwanted plants from his garden.
He found that they were: difficult to pull out from the Soil.

unwantedplants

Which of the following rmade it difficult for him o remove the plants?

{1}  Thestem held the plants. upright.

(2)  The roots absorbed water and mineral salfs.

(3) Theroots held the plants firmly to the ground.

(4) Thestem transported food to various parts of the plants.

16. The diagram below shows part of the large intestine in the digestive system.
Substances G and H are found in the large intestine. Substance G moves through
the large: intestine while substance H is removed from it.

bloodstream

02 90 O

Iarge ,
intestine .

odstream

Based on the information given above, what substances could G and H be?

Substance G | Substanced

[ S water _digested food
@y L . water ___ undigested food
@ —digested food ) water
4y |___undigestedfood | . water

Page8 of 18
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17 The flowchart below shows how food and air are transported in the human body.

:E‘l"-'.‘rl.‘..:?.---.-“.‘.:b-...' r’lll.ll'ri‘lli-.lll'.l.l.
LRSS | System P = ar i
y |
System Q
A —
g.------p-%;a- ."."‘"":- »l Sygtem R
LLLL LT T T ey -

Based on the flowchart above, identify systems P, QandR.

SystemP |  SystemQ System R
(1) skeletal __ Circulatory | respiratory
@ respiratory ____Circulatory digestive
{3) respiratory | digestive . circulatory
4 circulatory skeletal _digestive

18.  Thetable below describes the life cycle.of animals A, B, CandD.

Description A B [ D
The young spends its time in water. Yes | Yes | No | No
It has 4 stages in its life cycle. "Yes | No | Yes | No |
The young looks like the adult, | No | No No | Yes

Which of the following is likely to be a butterfly?
M A
2 B
@ cC
4 D

Page-9 of 16
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49, 't diagrarn below shewa the ife cyole of a mosiuito.

Which of the following statements Is trus?

(1) The mosquito In stage D eats & lot.

(2) Themosquifo i stage A can spread harmful diseases.

(3) The mosquito in stage C will start developing its wings.

(4) The mosquitain stage B can move 16 protect itself from hafm.

Pdaga 10of 46



B questions 20 and 21, please refer to the diagram and table below.

Enzo set up the following experiment with 3 water samples, A, B and C, placed in-a beaker.

forch:. beake_r with ' 'light- sensor
water.sample ’

He: used a light sensor to measure the amount of light that passed through: each water
sample. He recorded the data in the table below.

Water sample | _Amount of light {unit)
" A : 140

B 230

C , 185

20.  Which of the following shows the water samples arranged in the correct order?

most clear —» least clear
(1) A . B . C
(2) A, C , B
(3) B , C , A
(4) B ' A L, C .

21.  Which of the following variables in this experiment stould Enzo keep constant in

order fo carry out a fair test?
W Type of forch
X Material of beaker
Y Volume. of water sample
Z Amount of light detected by the sensor
(1) W, XandYonly () W, Xand Zonly
(3) W, ¥ and Z oniy {4) X, YandZonly

Page 11 of 16
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23.

BP-632

A dented ping pong ballwas placed ha beaker of hot water. There was ne hole §
‘the ping pong ball Five minutes later, it returried to-its original shape.

)

denled ping

fiohg ball

hot water

Air moved out of the dented pirig porg ball.

Airentered the dented ping peng ball-and it expanded.

Airin the dented ping pong ball lost heat fo the hot water and contracted.
Airin the dented ping pong balt gained heat from the hot water and

expanded.

Chai filled two identical pots, P and Q, with 500 ml of water at room temperature.
Pot P was placed on a hot metal plate with gaps while pot Q was placed-on a hot
metal piate without gaps as shown ir'the diagram below.

She 'wanted to find out which pot.of water will boil first.

hot metal plate

Potj P |

" without gaps-

PotQ

Which of the following reasons correctly explains Chal's cbservation?

(1)
2)
(3)
)]

Pot.of water Explanation
thatboiledfirst |
P Water galned; heat faster from the metal plate with gaps.
_ Q. Water gained heat faster from the metal plate without gaps.
P Water lost heat faster with the gaps in the plate.
Q | water-lost heat faster without the gaps in the plate.

Page 12 of 16
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28,

26.

- Ariria placed substances X and ¥ in. idefifical glass beakers as shown in diagramy

~ Diagram 2 shows what happened to the substances when she tilted both beakers,

" Diagramt  Diagam2

Which of the following explairis the difference in the observation of substances X and
Y? '

(1) Both X and Y have a definite shape.

{2} Y has a definite shape but X does not.

(8) X hasadefinité volume but'Y does not.

{4) Both Xand Y do not have a définite volume.

The diagram below shows a tube containing toothpaste.

toothpaste

Which of the. following properties should the tube have fer the toothpaste to be
squeezed out easily?

(1) flexible

(2) absorbs water

(3) floats on water

(4) -allews most light to pass through

Page 14 of 18
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27 Andrew arranged four ba;:tnaghets.a'ssshﬁwn in thé diagram belovw.

Which of the following diagrams carrectly shows the interaction between two of the
magnets when placed together?

(1} (2)

(3)

Page 15of 16
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58, Sandie conducted art -exper_ir_ﬁ_ent o igentify which magnet, X or'Y, has a greater |
ragnetic strength, She used similar magnets as shownbelow.

magnet X - magnetY

The magnets attracted different numbers of identical pins.

Based on the aim, what can be concluded from her observations?
(1)  The pins are-made of piastic.

{2) MagnetXisan electromaanet,

(3) Bothmagnets X and Y have the same magnetic strength.
(4) MagnetX has a greater magnetic strength thart magnet Y.

~ END OF BOOKLET A~

Page 160f 16
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Seclion B: Open-Ended Questions [44 marks] o
Write your answers to questions 29 1o 41 In the spaces provided.

29, Thediagram below shows two plants. -

Plant A Plant B

{a) What is one difference between the stem of plant A and the stem of plant B2 1]

The stam of plant A is ____ ) than the stem of plant B.

(b) The leaves help both plants make _inthe Tight. ' Ml

30." Study the diagram below.

(a) After a few days, will the amount of food in the bowl increase, decrease or remain
the: same? (1]

(b) Based ‘on the diagram above, name one substance this dnimal needs so that it
remains alive. (11

page?2 of 13
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3. Two ma-g'nets are ;ila'ced together as shown below.

magnet 1 magnet 2

N A B

The north pole of magnet 1 is labelled N

Name the poles labelled A and B of magnet 2.

(21
A

B:

32.

Fill in‘thie blanks using the cormrect words in the box.

decreases gas solid

remains unchanged increases

(@  When water loses heat, its temperature _

(1]
{b)  The beaker of water is put in the freezer. After some time, the water will

change its state from liquid to

(1
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.33, Choose the coffect words from the box to fill in the blanks below.

' sold  fiqud  gas

(a) Ali pours honey from a bottle onto a table as shawn below.

table .

The volume.of honey remains the. same but its shape changes.

This shows that honey is a . . (1

(b) All pours some marbles from a bottle onto a table as shown below.

bottle

The shape and volume of the marbles remain the same.

This shows thata marbleisa __ . . . [l

Doarem A ofan - '— T - ﬂ



4. The diagram below shows piants P, Q, and R.

BP-~641

(a) Based only on what is observe

) rved from the diagram above, state the headings in
() and (if). Then, classify plants P, @ and R, in (ili) or {iv) shown in the table
below. 2]
(i} (i)
(i) )
(b)  State three conditions needed for plants to grow well. 11
0}
(ii)
(i)
(¢} Other than to make food, state another function of the leaves. M1

Page 5 of 13




35, Study the classification table below.

“Oufer Covering _

D

Scales

Har

“bird

fish

" mammal

(a) State what D represents.

BP~642

i

(b) State ananimal group that has dry scales as their outer coverifig. [1]

The diagram below shows animal P.

feslers .

legs

(¢Xi} Based only on the diagram, which animal group does animal P-belong to?

3}

(il Give a reason for your answer in (i).

M

Page 60113




- /6. The diagram below shows the green beans Alicia planted,

The green bean plants were grown in a.cupboard. Water was addéd to it daily. After

five days, Alicia noticed mouid growing on the seedlings and the surface of the soil
shown in the diagram below. '

seedlings.

{a)  State the group of living things mould belongs to. (13

(b)  How does mould reproduce? (1]

Alicia noticed that the seedlings stopped growing taller and the growth of mould
increased. She concluded that the mould was harmful to the seedlings.

()  Which observation allowed her to make this conclusion? [1]
(d) Statethe way that the mould obtains food to grow. {1]
Page 7of 13
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a7.  Jenny bought 10 grasshiopper eggs and placed them in a tank of plants,
The graph below shows the number of grasshoppers at each stage after 5 ,ﬁ%\

Number of Grasshoppers

A

10 -

8
6 _
4 -
2

s adl " Stagesinife cydle

None of the grasshoppers died and they developed at different speed.

(a) Statethe stage that is best represented by S.. (]

) ()  Atwhich stage Is the grasshopper hamful to plants? ]

(i)  Explainyour answer in (b)(i). : M

{turry over to continue Qn 37)

Page 80of 13
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21 .37 -continued from previous page)

The diagram below shows the life cycles of the grasshopper and the frog.

life cycle of grasshopper life cyclé of frog

(c) State wo differences between the life cycles of the grasshopper and the frog.
(2]
0

(i)

Page 9 of 13 g
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“The graph below:shows the amount of digested food leaving each part of the
digestive system. .

Amourit
of digested food

7 3

rnouth gullet stomach -smal[ large digestive
intestine intesting  system

{a)  Whatis the function of teeth in the process of digestion? 11

BP-646

(b) The amount of digested food leaving the mouth Is the same as the amount -

leaving the gtillet. Give a reason for this. [1}

{¢)  Othier than digested food, naime two substances that can be-found in the
stomach. M

There was no digested food leaving the small intestine to enter the largé-intesﬁn'e;

(d)  State'what had happened to the digested food in the smiall intestine. 11

Pade 10 of 13
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v  The diagram below shows a moving rubber belt system that separates magnetic and
~ norn-magnetic objects, The separated objects are collected in bins Eand F.

- tubber belt

{a) Based on:the diagram above, what Is object R? 1
(b) Explain why object T drops into bin F but not object S. [2]
(c) Name 2 magnetic materials. [11
()
(if)

Page 11 of 13
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The set-up below shows a 500 cm? container with 200 cm? of waiter In it. The sety’
welghs Z grams: -

3 /503 cm? container
ta_p

(a) f more airis pumped into the container, what will happen to the mass of the
set-up? Give a reason for your answer. 11

L
ofwater

- syringe with

syringe with : _
100 ém? of air

100 ¢ of
water

] .-500 cm® container

100 cm? of water and 100 cm? of alr-are pumped inte the container using the syringes.

200 cm?®—
ofwater EZ

(b)  Record the volume of water and airin the container afterpumping.  [1]

Volume of substance in the container (Gnt)__

water alr '
[ Before pumping 200 ' 300
“After pumping | i) R L) '

{c)(i) Without changing the: container and syringes, suggest a way {0 increase the
volume of air in the container. [

(i) Explain why your method in (i) will work. {1}

Page 1206113 red
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Mr Sammy poured the same volume-of hot {jea info 2 ide_nﬁcél, metal cups, X and Y,
He:left cup X o & table. He poured the tea from cup Y back and forih into another
mistal cup for 1 minuts. Then he measured the temperature of the tea in both cups.

@ . cup X

table

Temperature of the tea (°C) Cup X Cu‘p-Y
_ Atfirst 80 |80 _
After 1 minute 75 64

(8  What happened to the temperature of the tea ifi cup Y after 1 minute? [}

(b)  Give a reason why the tem

perature of the tea in cup Y was different from that
in cup X after 1 minute

iy

{(c)  Suggest another method for Mr Sammy to cool down the tea in the cup faster.

L]

Mr Samimy’s frisnd likes his tea tot. He said that using glass cups instead of"m'e_tal
cups would keep the tea warm for a longer time.

(d) Do youagree with Mr Sammy’s friend? Why? (2]

~END OF BOOKLET B ~
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‘Nanyang Primary School )
_ PaScience End-of-Year Examination 2024
Answer Key-

égta} -fhinrf_er
{b) | food

30{a) | decrease
{b) | air/ food/ water
31 .A: soixth -

B: north

32(a) | decreases
(b} | solid
33(a) | iquid
(b} | solid
34(a) | {3} Strong stem.
(ii} Weak Stem
| (i) Pand R
{{vQ
(b} | () air
(i) food
{iii} water
{c} | They enable the plant to exchange gases with the surroundings,
35(a) | Feathers
(b} | Reptiles
(c) | (i} Insects

{ii) It has:six legs.
36(a) | Fungt -
(b} | By spores




@
)

:Tﬁéﬁseedlfhgs stopped growing taller. - ' T —

1t obitains food from the seedlings that it grows on.

B

(b}

C

Young/ Nymph

(i) S Adult

(ily it feeds on plants.
{1) The young of a grasshopper ooks like the adalt Hutthe young of the frog doesnot.

| (i} The life cycle of the grasshopper s fully on land while the life gycle of the frog is
| pariially in water;

]

(o)
©
e

Teeth break food up Into smaller pleces.

No digestion takes place.in the gullet.
‘Undigested food, digestive juices

‘Digested food had been absorbed into the blood.

"39(a)

(b).

i s made of @ nor-magnétic material and would not be attracted to object R,

()

A fﬁég}f_et‘
Object T is made of a magnetic material.and would be attracted to object R while object $

iron, steel

40(a)
(b}

{c) '

' The mass will increase because air hasmass,

(i) 300

{ii} 260

(i) Rernove some water fiom the container.

{if) Alr does not have a definite volume. Hence, it will take up the space previously
occupled by the water.

| 41(8) -

)
®
(dy

The temperature decreased.
The tea i cip.Y lost heat to the surfounidings faster.
Add 4 fari to blow at the tez, |

Yes; [ agree. Glass s a poorer condyctor of higat than metal. Henge, it would-condlict heat

from the hot tea to the surroundings slower.
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